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IINEEARRE 15 7 29
4H (1#%) 68.2% 31.8% 100.0%
HREERR 10 7 17
(1#%) 58.8% 41.2% 100.0%
IINEEARRE 14 7 1 22
(1#%) 63.6% 31.8% 4.5% 100.0%
5H
HREERR 10 7 17
(1#%) 58.8% 41.2% 100.0%
IINEERRE 15 6 1 29
(1#%) 68.2% 27.3% 4.5% 100.0%
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HREERR 12 5 17
(1#%) 70.6% 29.4% 100.0%
IINEERRE 19 3 22
(1#%) 86.4% 13.6% 100.0%
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HREERR 15 2 17
(1#%) 88.2% 11.8% 100.0%
IINEERRE 21 1 22
(142) 95.5% 4.5% 100.0%
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HREERR 15 2 17
(1#%) 88.2% 11.8% 100.0%
IINEEARRE 16 6 22
(1#%) 72.7% 27.3% 100.0%
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HREERR 14 3 17
(1#%) 82.4% 17.6% 100.0%
IINEEARRE 17 5 22
(1#%) 77.3% 22.7% 100.0%
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HREERR 15 2 17
(1#%) 88.2% 11.8% 100.0%
IINEERRE 19 3 29
(1#%) 86.4% 13.6% 100.0%
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HREERR 15 2 17
(1#%) 88.2% 11.8% 100.0%
IINTERRE 19 3 22
(1#%) 86.4% 13.6% 100.0%
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HREERR 16 1 17
(142) 94.1% 5.9% 100.0%
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